w

alphal3_4eX1X
N
1

15

UEILA40_LZA4E Y

0.5

alphal3_4eX1X:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

delta46_12X4eY:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218

cyclenum

alpha4b_4ey4ay

8031

3030.5

8030

3029.5

8029

3028.5

8028

3027.5

8027

alpha46_4eY4aY:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

run:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

deltal3_12X4eX:cyclenum {run == 8029}

|

=

o
I
v
i
i

deltal3_lzx4ex
T

{
N
I
-
h
h

10216 10216.5 10217 10217.5 10218

cyclenum

segment:cyclenum {run == 8029}
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10216 10216.5 10217 10217.5 10218
cyclenum




usI_4o

-86.5

-87

-87.5

24

235

23

22

usl_1X:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218

cyclenum

usl_4eY:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

usl_say

|
=

-15

-2

-41.5

-42.5

usl_4aY:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

usl_12X:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218

cyclenum

usl_4eX:cyclenum {run == 8029}

usi_4eA
=
~

16.5

15[ -urmuenns PEE
L | 1.
10216 10216.5 10217 10217.5 10218

cyclenum
run:cyclenum {run == 8029}
8031

3030.5

8030

3029.5

8029

3028.5

8028

3027.5

8027

10216 10216.5 10217 10217.5 10218

cyclenum



-131.2F

-131.4

-131.6F
-131.8fF
-132F

-132.2F

-132.4

-132.6

-132.8

-133F

-133.2F

-133.4

- 208
L

r\
5 206F
3

20.4F

20.2

20

19.8

19.6

194

19.2

19F

18.8F

18.6

usr_1X:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

usr_4eY:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218

cyclenum

I
N

usr_say

|
n
o

-3

-3.5

|—40.5

-41

-41.5

-42.5

usr_4aY:cyclenum {run == 8029}

P I SRR AP
10216 10216.5 10217 10217.5 10218

cyclenum

usr_12X:cyclenum {run == 8029}

_ ................... )K ......................
P N SRR AP I
10216 10216.5 10217 10217.5 10218

cyclenum

1788 F

178.6

178.4F

178.2F

178

177.8F

177.6

177.4

177.2

177F

176.8F

176.6

8031

3030.5

8030

3029.5

8029

3028.5

8028

3027.5

8027

usr_4eX:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

run:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum



16533

6532.5

16532

6531.5

16531}

3401.6
3401.8 F
-3402
3402.2 F

3402.4 F

3402.6
3402.8

—-3403

3403.2F
3403.4 F
3403.6 F

3403.8 F

usl_coill:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

usl_coil6:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218

cyclenum

2407

2406.5

2406

2405.5

2405

5575.2

5575

5574.8

5574.6

5574.4

5574.2

5574

5573.8

5573.6

5573.4

5573.2 F

5573

usl_coil3:cyclenum {run == 8029}

10216

10216.5 10217 10217.5 10218
cyclenum

usl_coil7:cyclenum {run == 8029}

10216

10216.5 10217 10217.5 10218

cyclenum

5930.5

5930

5929.5

5929

5928.5

8031

3030.5

8030

3029.5

8029

3028.5

8028

3027.5

8027

usl_coil4:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

run:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum




5413.6

5413.8F
15414 F
5414.2F

414.4 F

5414.6
5414.8

15415

5415.2F
5415.4 F
5415.6F

5415.8F

3020.5

-3021

3021.5

-3022

3022.5

usr_coill:cyclenum {run == 8029}

vl v by by by 1y
10216 10216.5 10217 10217.5 10218
cyclenum

usr_coil6:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218

cyclenum

2086.5

—2087

2087.5

-2088

2088.5

4689.8

4689.6

1689.4 F
4689.2F
34689 F

1688.8fF

4688.6

1688.4

4688.2

34688

4687.8

4687.6C

usr_coil3:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

usr_coil7:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218

cyclenum

5189.5

6189

5188.5

6188

5187.5

8031

3030.5

8030

3029.5

8029

3028.5

8028

3027.5

8027

usr_coil4:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

run:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum



-120.5

1X_coill:cyclenum {run == 8029}

S SR SRR PP OPPTRPPPRE

-121.5

-122

-122.5

-230.6

-230.8F
-231F
-231.2F

-231.4F

-231.6
-231.8

-232

-232.2F
-232.4F
-232.6 F

-232.8F

10216 10216.5 10217 10217.5 10218
cyclenum

4eX_coill:cyclenum {run == 8029}

Eol vy by v by v b gy 1y
10216 10216.5 10217 10217.5 10218
cyclenum

N
N
o

LA_CUIS

12

115

11

105

-24.5

-25.5

1X_coil3:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

4eX_coil3:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

2155

215

214.5

214

2135

241

240.5

239

1X_coil7:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218

cyclenum

4eX_coil7:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum




294.2

294

293.8

293.6

293.4

293.2

293

292.8

292.6

292.4

292.2

292

2735

273

2725

272

2715

4aY_coild:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

4eY_coild:cyclenum {run == 8029}

T
N

10216 10216.5 10217 10217.5 10218
cyclenum

-109.2 F

-109.4

-109.6 F

-109.8

-110

-110.2

-110.4

-110.6

-110.8

-111

-111.2F

-111.4

-139

-139.5

-140

-140.5

-141

4aY_coil6:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

4eY_coil6:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

1-39.5

-40

-40.5

-41.5

1-325

-33

-33.5

-34

-34.5

4aY_coil7:cyclenum {run == 8029}

10216 10216.5 10217

10217.5

10218
cyclenum

4eY_coil7:cyclenum {run == 8029}

10216 10216.5 10217

10217.5

10218
cyclenum




-232.5

-233

-233.5

-234

-234.5

12X_coilé

12X_coill:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

12X_coil6:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

-87.4

-87.6

-87.8

-88.2

-88.4

-88.6

-88.8

-503.5

-504

-504.5

-505

-505.5

12X_coil3:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218

cyclenum

12X_coil7:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

15

12X_coll4

8031

3030.5

8030

3029.5

8029

3028.5

8028

3027.5

8027

12X_coil4:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum

run:cyclenum {run == 8029}

10216 10216.5 10217 10217.5 10218
cyclenum
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